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Time: 3 Hours

Instrictions to Candidates:-

Attempt any five questions, selecting one question from each unit. All
Questions carry equal marks, Schematic diagrams™ must be shown

wherever necessary. Any data you feel missing suitably be assumed and
stated clearly.

Units of quantities used/ calculated must be stated clearly.

Use of following supporting material is permitted during exam ination.
(Menrioned in form No.205)

{. Neonal distribution Table

7 Scentific caloylator

UNIT=1
Q.l (a) A bag has 4 white and 3 hiack balls while another bag has 3 white and 5 black

balls. A ball is drawn from the first bag and without noting its colour, is put into

the second bag. Thén a ball is drawn from the second bag. Find the probability
that it is white. (8]
(b) The chance:thata doctor will diagnose a disease correctly is 70%. The chances of

deathof patient after correct disgnosis is 35% while after wrong diagnosis it

80%:. If a patient dies after taking his treatment, find the probability that he was
8\

diagnosed.
(i’ Wrongly
(ii) Correctly
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OR
Q.1 F-imi the moment generating fypeyon of e random variable X whose p.m.f. is
given by:-

P{X=x)= IE Cx, x= 0, 1,2, 3 and then find g, and 4} i8]

. i ack of 52. 1f a unt .
(b) Thirtcen cards are drawn simultaneoysly from a pac? f are count 1. face
aneousty tenominations, find the expeciation of
cards 10 each and other according o thetr den (8]
the total score of the 12 cards,
unNgT-11
-w
‘";:S““ disiribution. (8]
| _': Uiseribution of weekly wages of 500 workers na
e pors X, rornral wipt . -
fuctory h. ppra . . " the mean and sd of T75 and T15. Find the
pumber of workers who receive Weekly wapges &1
(i) More than T 90 ) '
(ii) Less than T 45

Q.2 (a) Find mean & varianoee ol 1%
(b) Define normal distribution.

OR

—_——
Q.2 (a) Find the mean and variance of normal distribution,

: (8]
¢h) The following data shows the .nl.lmlju:r qf seeds geminating out of 10 on damp
filter for 80 set of seeds. Fit a binomial dist " ta thi§ data. 18]
<~ 0 1 2 3 4 7 8 9 10|
|
o6 20 28 128 650 0 0 0 o
UNIT-111
03 (a) Find the correlation coefficient between X & ¥ when it is given:
that: n = 15, Ex = 50, By =30, Ix” = 290, Ly = 300, Ixy = -115. 8)
(b) Ten competitors in a beauty contest are ranked by three judges in the following
order.
JudgeI i 3 2 4 9 7 8

I 6 5
Tudee 2 358 4 7 102 1 69
el 649 g 1 23 10 5 7
Use the rapk .

DX correlation Coefficient to discuss which pair of judges have the

near
Stapproach 1o com

RIOD faste jp beauty. (8}
[4E4162)
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space o acvonumodiate only 4 custormyr
and service time 15 30 nunutes pes CinomeT foypard foor T abpyet |
(i) The probability that thereis etistormet in the shtop

1%
(i}  Average number of gustamers i the shop o

- n b ey i
A I'_‘Ig_‘lj'('!r pump hug 2 Pump\. 'I.]IL' ServIct timc f“lﬁl‘t g% ANE ':’!h
‘ = . . . . o fewr AETVIOE rn ¥ AT
distribution with 2 mean of 4 minutes and vehicles armve for service 1n PO
1-"-}

fashion at the faté of 10 per hour. Find

The probability that an armval of a
f idle time for each pump-

puters {0 carrving out the job work. The averags
ob and the average armival raic

s 20 muues perj
o 0 be distributed exponentially. if the
(&

then find

(i) vehicle would have 10 wail.
(i1}, The expected percentage o
In‘a shop there are (wo com
time per job on each compute
is 2 jobs per hour. Assume the job tim

maximum number of jobs accepted on day be 6,
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_ OR
Q3 ) A man while going to office he uses cither GEthe two modes of transponation
cither a L'l'l_v bus or his scooter. The RS ONH prnh‘.lhilil} is given by 'l”"\
{. Ras ~Scopter -1
p Bus | 0 | ‘
- L /2 172

scooter |

|

The initial state of probability distribution i.e. on first day is

:' -1
Pay=fs, !
6 h_

Find
(1 Theprobability that he takes a bus on the third day.

(111 4, Thesprobability that he goes by scooter in the dong run.

(b) A house wife buys three Rinds of cereals: Ayl
cereals on successive weeks. If she l'!'l.ll"rq Cfm' :
cereal B, However. if she buvs B or ¢ thcn'

likely 10 buy A as to the other brand. Find th
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